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Ill. A Vean diagram is used %0 show the follewing infermatwon:

»  Tre Universsl set, £, is the sat of numbams from 10 10 20 incusrm
SetA=[11, 13, 14, 13, 20}.

o Sal 0= {multipas of 3

[Iraw the Vann d agram [hat shows the abave infiormation. [«
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Sat B = {multicles of 3).

6. AVenn disgram ls used 1o show the Eolowing informeslion:

The Usiversal set. €. i the 55% of rumbars from 10 to 20 incuaive.
SetA= {11,132 1 18 70}

Draw the Vann dizoram thal shows [he 2 00w nfor naton.
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B A Veno diagren i uied 1o show tne lollowing information: l
+ The Univereal zel, £, ia tha as! of numtaera from 10 o 20 mclusive.
» SelAs{11,13, 14 18 20}
- SetB = {multigles of 3).
Draw t7e Venn cisgram that shows the above informasion. 4]
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e e

B1

B1

B2

Allow intent of drawing circles and a rectangle.

Two intersecting circles AND labelled A and B AND
within a rectangle.

Allow missing ‘€’ symbol.

For unambiguous indication that the set B consists of
12,15 and 18 only.
BO if any of these numbers are repeated outside B.

All eleven numbers in correct position (with or without
a rectangle), with no other or repeated numbers.

B1 for six to ten numbers in correct position.
Repeated numbers should not be credited.
Other numbers may be ignored for this B1 mark.
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v Sel = {multipas of T
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6. AVenn diagram is used %0 show the follcwing infermatwon:

[raw tha Vann dagram that shows the abave infcrmation.

S S A AT E T ACEY:

»  Tre Universsl set, £, is the sat of numbams from 10 10 20 incusrm
SetA=(11, 13, 14, 13, 20}.
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Sticky Note

In this question, candidates were asked draw a Venn diagram. On previous occasions the structure of the diagram has already been drawn on the examination paper. The first example shows a solution which gains all of the 4 marks available.
Examples 2, 3 and 4 demonstrate some of the common errors that were made.

(The ‘B’ marks awarded are all independent of each other.)




Sticky Note

Correct presentation (two intersecting circles AND labelled A and B AND within a rectangle).                                   B1 
All numbers correctly placed. B1 + B2.
 Gains all 4 marks.
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Avenn d agram s used bo show the kalowing inlormslion:

The Usiversal set. €. i the 55% of rumbars from 10 to 20 incuaive.
SethA={1,12 ¥ 18 F0p
o Net B o= {multicles of 3).

Draw the Vann dizoram thal shows [he 2 00w nfor naton.
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Sticky Note

Correct presentation (two intersecting circles AND labelled A and B AND within a rectangle).                                                  B1
 
Set B consists of 12, 15 and 18 only.         B1

Only seven of the eleven numbers shown in the correct position (numbers 10, 16, 17 and 19 not included in the universal set).             B1

3 marks gained.
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B A Veno diagren i uied 1o show tne lollowing information:

«  The Univereal 2&t, £, I3 tha ast of numicera from 10 to 20 nciusive.

- SelA s {11, 13, 14. 18. 20},
- SetB = {multigles of 3)

Draver 17 Venn cizram thal shows the above informarion.
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Sticky Note

No rectangle drawn to represent the universal set.        B0
This was the most common of all the errors made.

All numbers correctly placed.                                    B1 + B2.
 Gains 3 marks.
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Examiner
|
6. A Venn diagram is used to show the following information: o

e The Universal set, €, is the set of numbers from 10 to 20 inclusive.
o SetA={11, 13, 14, 18, 20}.
e Set B = {multiples of 3}.

Draw the Venn diagram that shows the above information. [4]
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(i) 13f+2=¢f+5.

i3
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(i) ]'_']fq. = '5f+ 5
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7.(a) 5(2a - 3) B1 Mark final answer.
7.(b)(i) (x=) 147 B1 Accept embedded answer. Mark final answer.
7.(b)(ii) F.T. until 2" error.
13f—6f=5-2 B1
7f=3 B1
(f=)3/7 B1 If FT leads to a whole number answer, it must be
shown as a whole number. Otherwise accept a
fraction.
Mark final answer.
Allow 0-43 or 0-429 or 0-428... as a final answer.
7.(c) ‘5n — 3 can be even or odd’ ticked or implied E1 A valid explanation implies
AND a valid explanation given. ‘bn — 3 can be even or odd’, unless contradicted.
e.g. '5x3 -3 =12 (even) and 5x4 — 3 = 17 (odd)’ Allow e.g. ‘“15-3=12,20-3=17".
‘if n is odd you get even (but) if n is even you Allow a correct sequence shown e.g. 2,7, 12, ....
get odd’
Do not accept
‘n can be anything’, ‘n can be odd or even’.
Do not accept an explanation that only uses 5n.
e.g.'5x2=10(even), 5 x 3 =15 (odd)
2
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(i)

13+ 2= 6f+5.
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Sticky Note

Solving a simple linear equation.
Poor algebraic skills and techniques often lead to a loss of marks.

The ‘B’ marks are independent and can be awarded by following through on one previous error.




Sticky Note

A safer option would have been if the candidate first wrote 13f – 6f = 5 – 2 for the first B1.
A ‘follow through’ mark could then be awarded for the second B1.
As this candidate has correctly arrived at 7f = 3 then the first two B1 marks are implied. 
A common error on final line of many candidates’ solutions was to give the inverse of the correct answer.  B0 
2 marks gained
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(i) 13f+2=6+5
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Sticky Note

When a method is shown it is possible to award follow through marks for correct subsequent work. Had the first line of the solution not been seen then no marks would have been awarded for 19f = 3.
As it was, the marks gained were B0, B1 (following through from 13f + 6f = 5 – 2) and a final B1 (following through from 19f = 3)
2 marks gained.
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7. (a) Factorise 10a- 15. [1]

(b)  Solve the following equations.

i) F=21 [1]
(i) 13f+2=6f+5. [3]

(c) nisan integer.

Tick the correct statement below.

You must give an explanation for your decision. 1]
Sn -3 is always Sn -3 is always S5n—3 can be an
an even number. an odd number. even number or an

odd number.

EXPIANATON: ...

09
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B. Ir iiis question, you wil e assessac on e qualily of your organigation, communicalicn ano

soousey it winking
Ir the disgram below, ABGE is 2 sousre and COE is a right-ang ec triangle.
Tiw: length of DE & 4cm and the asea of Tlangle COC Is 14cm?,

Cslou ale the area of 1e whole shape ABCDE,

You mast show al your working. [4+2 COW]
nan 4em
Z
C
L
uﬂtc"% Pima
r Ao e
Disgram not drawn to scale
ban . Ada 1z A - Jtoo . |
rH ‘
e — SguAe has 20 oG el
Squalc
= = e )= hh':-‘-f”%

B
S T L S S N ——

dved o siopea b3 S0






		Q8 Example 2.pdf

		Blank Page
















Lengths may be shown on the diagram.

(Area of the triangle CDE =) 14 =4 x CE M1 | Accept equivalent e.g. 28 =4 x CE.
2
(CE =)7 (cm) A1
(Area ABCE=7 x7 =) 49 (cm?) B1 FT ‘their stated or shown length CE’.
(Area of whole shape =49 + 14 =) 63 (cm?) B1 FT ‘their stated or shown area of square’ + 14.
8._Alternative method Lengths may be shown on the diagram.
(Area of the triangle CDE =) 14 =4 x CE M1
2
(CE=)7 (cm) A1l
(Area Trapezium ABCD =) [(7+4)+7]x7 M1 | FT ‘their stated or shown length CE (=CB)’
2 consistently as ‘their 7.
=63 (cm?) Al
8.0CW Organisation and Communication. OC1 For OC1, candidates will be expected to:
e present their response in a structured way
e explain to the reader what they are doing at
each step of their response
« lay out their explanation and working in a way
that is clear and logical
e write a conclusion that draws together their
results and explains what their answer
means
Accuracy of writing. W1
For W1, candidates will be expected to:
e show all their working
e make few, if any, errors in spelling,
punctuation and grammar
e use correct mathematical form in their
working
e use appropriate terminology, units, etc
9. (a=) 180 —110 or equivalent. M1
2
=35(°) A1
b (=180 — 90 — 35) = 55(°) B1 OR FT 90 - ‘their a'.
c (=90 + 55) 145(°) B1 OR FT 90 + ‘their b’.
OR c (=180 - 35) 145(°) OR FT 180 - ‘their &’
3
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Sticky Note

Unless some attempt had been made at finding the length of EC using the area of 
triangle CDE, then it was considered that not enough engagement had been made with the question and no OCW marks could be awarded.




Sticky Note

The OC (organising and communicating) mark depended on an explanation of what was being considered at each step (not an essay at the bottom of the page starting off with ‘First of all I …..’).
The W (mathematical writing) mark depends on correct mathematical form (not e.g. 4 ÷ 28 = 7) and units shown for the area and lengths. 





Sticky Note

A common incorrect assumption and method. No marks gained.
OC 0 and W0 as no proper engagement with the question.
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B. Ir iiis question, you wil e assessac on e qualily of your organigation, communicalicn ano

soousey it winking
Ir the disgram below, ABGE is 2 sousre and COE is a right-ang ec triangle.
Tiw: length of DE & 4cm and the asea of Tlangle COC Is 14cm?,

Cslou ale the area of 1e whole shape ABCDE,

You mast show al your working. [4+2 COW]
nan 4em
Z
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Sticky Note

4 marks for the correct answer.
However OC 0 : No explanation given at each step of candidate’s response.
W 0 : Incorrect mathematical form (’14 × 2 = 28/4’) Incorrect units (49 cm3).






		Q8 Example 2.pdf

		Blank Page
















10

8. In this question, you will be assessed on the quality of your organisation, communication and
accuracy in writing.

In the diagram below, ABCE is a square and CDE is a right-angled triangle.
The length of DE is 4cm and the area of triangle CDE is 14 cm?.

Calculate the area of the whole shape ABCDE.

You must show all your working. [4 +2 OCW]
D
4cm
14 cm?
E C
A B

Diagram not drawn to scale

Examiner
only

10
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14. Sight of any TWO of 30, 2 or 0-5
OR Sight of any TWO of 30, 8 or 0-5
as appropriate approximations.

30 x 8 or equivalent.
0-5

=480

B1

M1

A1

Allow 30-2 for 30.

Equivalent e.g. 30 x 2 x 2 x 2 or 30 x 23
Yz 0-5
Must be seen, but allow if attempted calculation done
in steps.
MO for exact calculation.

C.A.O. Allow 483-2 if 30-2 used.

© WJEC CBAC Ltd.







14. Estimate the value of

. 308

30-21 x 1-98°
049

240 2L
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14. Estimate the value of

30-21 x 1-98°
049




Sticky Note

In this type of question the candidates must show an understanding of what constitutes an appropriate approximation to the numbers given.
In this example the numbers 30 (for 30·21), 2 (for 1·98) and 0·5 (for 0·49) were required.
The first B1 mark was allowed for showing any two of the above.
The method mark M1 was for showing a calculation that would give a correct answer if carried out with no errors. The A1 was for the correct answer of 480.




Sticky Note

Gains B1for sight of the 30 and 2. 
1 is not a good estimate for 0.49 and would not lead to an answer of 480.   M0A0
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14. Estimate the value of

30-21 = 1.98°
0-49

[3]
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14, Estimate the value of

30-21 x 1.98°
0-49

[3]




Sticky Note

Gains B1 for sight of the 30, 2 and 0·5.
M1 (intent to use 30 × 23 ÷ 0·5) which is equal to 480. 
Very poor numerical skills so final accuracy mark lost.  A0.
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14. Estimate the value of

_dox

30-21 = 1-98°
0-49

[3]
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14. Estimate the value of

 3ox 12

3o

30-21 x 1.98°
0-49

[3]

Bex®

. lyorosoe=\20




Sticky Note

Gains B1, M1 (intent to use 30 × 23 ÷ 0·5).
Several candidates evaluated 240 ÷ ½ to be 120.  A0
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14. Estimate the value of

. .0Q3

16
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